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QUESTION

When an air column in a pipe closed at one end vibrates such tha

are formed in it, the frequency of its vibrations is

frequency.
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QUESTION

If two open organ pipes of length 50 cm and 51 cm sounded together produce
7 beats per second, the speed of sound is
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QUESTION
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The tension in a piano wire is increased by 25%. Its frequency becomes
times the original frequency.
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QUESTION

A standing wave is produced on a string fixed at one end with the other end free.
The length of the string

g\’)/ must be an odd integral multiple of A/4 “~ A Nap N,
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The amplitude of a wave is represented by y = 0.2sin4m [ﬁ— 018] in SI units.
Find (a) wavelength, (b) frequency and (c) amplitude of the wave.
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